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1 0000 (higher-order function)
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(Turing Machine) 00 0000000000000 0O0OO0OOOODOOOOO0DOOOODOOODOODOOOOOOODOOODOO
gobboooobooooodooobooooooooboooboooooboooooooobo0OoobOOooobo0oooOOoOoooOoOoobboOouoDnn
ogboboooooooooo
coboooobooooooooooooooboooooboooooooooooooooooooooooooobooooooon
00000000000000000000000000000000000B000000000 (higher-order function)
000000000000 00D000D0O0O000 (functional) 0000000000 DOOO0ODOOOOOODOOOOOOODO
000 (000000000000 000O0)0D00O0O0OO (first-order function) 00 0O
cooooooboooooooooooboooooooboooooooobobooooOooobbooooOoobboOooDbboOoooooon
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1.1 0O0OO0Oogo

goboobooobooooboo
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(* OO0O0O0OD000,; add3 0 mulz2 OOOOOCOOOODOO =)
let add3 x = x + 3 ;;
let mul2 x = X % 2 ;;

(x fool ODOOOODOODOOOOO =)
let fool £ = (£ 10) + 2 ;;

(x fool DOOOOOOO add3 O mul2 OOO x)
let _ = fool add3 ;;
let = fool mul2 ;;

\ J
Ul fool OO f000000O0ODOODOOf 100000OOODOODODODDOLODODOODOODODEODODODOD
O00O0OOfool fO00C(f 10) + 20 0000000000000 0O00O0OO o0l add30 add3 10 + 2 = 10 + 3 + 2= 15
db00Ofool mul2 [ mul2 10 + 2 = 10 *x 3 + 2 = 220000
gboooooobobooooboooo foboboboboboooobooboboob0obDObOobboob0O xOobOobOooD
gooogooo

0000000000000 000000000000000000



(x fool DOOOOOOOOOOOOO =)

let foola x = (x 10) + 2 ;;
let _ = foola add3 ;;
let _ = foola mul2 ;;

gbobobobobobobobfigbooboboboboboboboboboboooboooobooboooooobon
goobobobooon
gobooboobbooboo

e N
let foo2 £ = £ (£ 10) ;;
let foo3 £ = (£ (f 10)) + (£ 20) ;;
let _ = foo2 add3 ;;
let _ = fo02 mul2 ;;
let _ = foo3 add3 ;;
\_ %
O0o0000o0o0o0oboO00ob00ooOb00o0oo0ooooooooao
s N
(*» 000000000 0 0O00OO0ODOO00DO0O0OO000 x O0OOoOoDoooog )
let food £ x = £ (£ (x + 10)) ;;
let _ = foo4 add3 3 ;;
let _ = food add3 4 ;;
let _ = food4d mul2 5 ;;
let _ = food mul2 6 ;;
\_ %

0000000000000 0edd3 0000000000 OO00ODOOO0OODOOOOODODOOOODOODOOO0O OCaml
od fun x —> ...00000000000000DO00O0OO

let _ = fool (fun x — x *x 2 + 10) ;;

=

(1]

o
I

food4d (fun x — x * x + x) 9 ;;

coooooooobObcoobOOoooooOooOobOboA0ODOOOO0OOOOOO0OO0O BOOOOOOOODOOOA -—>BOOOOO
gooboboboooooDobUo A —>BUOOODODODODODODODODOD A —»>BUOOODODOODOODOOO
cooobooooooooboobooooooo

fool (int — int) — int
foo2 (int — int) — int
foo3 (int — int) — int
foo4d (int — int) — int — int

(int -> int) > int 00000000000 OCO0O0OOCOO0OOOOOOOOOOOO0ODOO

0000000000000 0000D0000D00D00O0OO ool OO (int -> int) -> int 0O0O0OO0ODOOOO
int -> int > int 00 00000000000->000000000000004nt -> (int -> int) 000000000
0000000000000 food DU UOOOOOOOOOO (int -> int) -> (int -> int) OOOO



12 DO0OOODOO

0000000000000000000
4 N

(x compose OUOUOUOO 2f 0 g UOOOOO x)

let compose f g x = g (f x) ;;

let = compose add3 mul2 10 ;;

let = compose mul2 add3 10 ;;

(* OO0OD0OODO0O0DO0O0O0O x)
let double_apply £ x = £ (f x) ;;

let _ = double_apply add3 10 ;;

(» JO0O0O000000000 =*)

let triple_apply £ x = £ (£ (f x)) ;;
let _ = triple_apply add3 10 ;;

N _
doboobbooboboobooboboobooboboo

4 N

+ ODO0O0OODOOODO0O0O0 %)
let rec multiple_apply n f x =
if n = 0 then x
else multiple_apply (n — 1) £ (£ x) ;;

let _ = multiple_apply 5 add3 10 ;;
let _ = multiple_apply 6 add3 10 ;;
let _ = multiple_apply 7 add3 10 ;;
\_ /

13 DO0O0000000 map

00000 (D0DO0D0000O0)00000D00U00D0D0OO0LD0OD0D0OOUO0DDO0DOO0Omap 00O O0ODOOODOO
Map/Reduce 0000000000000 ODO0OO0O0OODO0OO0DO0O0ODO0OO0OO0O0O0O0OD map 000D 00OO0ODOOOODOO
000000000000 10000000000000000000080g

map0O000O0Caml O List 00 0000000000000 Listtmap 000000000 ODOOOOO

*2 4map” 000000000000 00000Ymapsxtoy” 00000 Of(x)=y0000000




(x OO0OD0OD0O0O000 add3 OOOO0O x)
let _ = List.map add3 [1; 5; 8; 2; 41 ;;

(x map DO0O0O0OODOOOO int DOOOOOOOO
oodono x>3 0000000000000 Oooo )
let _ = List.map (fun x — (x > 3)) [1; 5; 8; 2; 41 ;;

(x DO0O00DD0DO0O0O0OoOoooOo )
let _ = List.map (fun x — string_of_int x) [1; 5; 8; 2; 4] ;;

(* fun x — string of_int x 0 00 string of_ int OOO0O000O x)

let _ = List.map string_of_int [1; 5; 8; 2; 41 ;;

- %
map U0 O0000O0O0O0O0ODOOO0DOO0OOOO0ObOO00boooDbOooboobDbOoobooDD

4 N

(x map 000000000 O0O0OCOOOO0O =)

let rec my_map f 1lst =
match 1lst with

[ [l = 1]
| h::t — (£ h) :: (my_map £ t) ;;
let _ = my_map add3 [1; 5; 8; 2; 4] ;;
let _ = my_map mul2 [1; 5; 8; 2; 4] ;;
let _ = my_map string_of_int [1; 5; 8; 2; 41 ;;
\_ /

O0my_map U List.map OO OO00000O00OD0OODOOOOOOOOOOODO
00 my_map (00O Listmap) 00000000 OODO

my_map : (‘a — 'b) — ’'a list — ’'b list
= (a — '"b) — ("a list — ’b list)

oob ’ab’p0000000000O00O0COO0COO’a0’p000000000000000000my_ map 000000
goboooooooono
cooboooooooooobooooooooon

let _ = my_map add3 [1; 5; 8; 2; 41 ;;

U000 my_map O0int => int 0000 add300int 1list 00000000000 DOInt 1list000000O00O0O0O
000O@int -> int) -> (int list -> int list) 0000000000000 O0O0O0O0O0O0O0O0O0OO’a=int 000 b=int
gooboboboooooooobooboobo

0000000000 (D0D’a0000000DO0O0OO0)0000D0O00OOOOODODOOOOOOOOOOOOOOOOODOO
gboboboboooooobobob0obobobbibD’a=int 000 ’b=int 00000000 OOOO0ODOODOOOOO
gob0O1.00020000000my_map00000000DOCOODOOCOOOCOOODODOOOODDOO



let _ = my_map (fun x — (x > 3)) [1; 5; 8; 2; 41 ;;
let = my_map string_of_int [1; 5; 8; 2; 41 ;;

U00Omap 000000000 DOO0ODOOOODODOOODOOOODODOODDODOODDOOODOOODOOODLOO0ODO
0000000000000 000D000 (D0D0D000O0D000D0O0O000D0D) 00000 0ep0OO0DOOOOODODOODO
ooobobobooooooonoo

14 00OD0oOODooOgOd fold

0000000 (fold) 000D 0D0OO0D0DDOO00OD0DD mep00000D0OOOODOODOODOOODOOOODODOOOO
0000000000000 00000000O0O0OD fold0D000D000D00D000O0O0D0O0DODOODOOO (convolution)d
ooboooooog

fold 000000000 DO0O0O0UODOOUODOODDOOOO (foldleft) D0DDODO0O0OO0ODDOO0OODOOOLStOOOOODO
fold left DO UOODOOOOOOOOODOOO
e I

(x OO %)
let hool x vy = x + vy ;;

let hoo2 x vy = x *xy ;;

(+* 000000 =)

let _ = List.fold_left hool 0 [1; 5; 8; 2; 4] ;;

let _ = List.fold_left hoo2 1 [1; 5; 8; 2; 4] ;;
- /

100000+14+54+8+24+4=200000000000000200000000000000000000000CG

map 00000000000 000D0O0O0O00OfldO000000O000O000OOOD 1000000000000000D0
0000000000000 00D0O000 10000000000 reduce(000000DDOO)DDOOO

ocoooobo 1oooobooOoODOODOOOOOOOOOOOOOOOOOOOOOOOOOOOOOODOOOOO

ooooooooOooOooOoooooooo

let hoo3 x y = if x > y then x else vy ;;
let _ = List.fold_left hoo3 min_int [1; 5; 8; 2; 4] ;;

000 min_int 0000 (0000000000 0O0OO)000000

0000000000000 0000000000000000000000000000D0O00UDO0O foldOOOOO
00 fold000000000000000000000O00O0O0O0O0O0O0O0O0O0O
4 N
(+x 000000000D00000000000D000O00000000000O000000 4 %)

let hoo5 x yv = if x > 4 then x else vy ;;
let _ = List.fold_left hoo5 0 [1; 5; 8; 2; 41 ;;

(+ JO000O0O0OCOOO0O00O0ODODOOOOoOoOoo

ooog [1; 07 1; 1] 0 273 + 2 + 1 =11 00000 %)
let hoo6 x v = x *x 2 + vy ;;
let _ = List.fold_left hoo6 0 [1; 0; 1; 11 ;;




fold 0000000000000000000
; N

(x» JO0O00O0O0OOO0OO000OO0OO00O0O00 =)

let hoo7 x y = x » (string_of_int vy) ;;

(» fold UOOOODOO0OOOOOO0O0O0O0O =x)
let _ = List.fold_left hoo7 "" [1; 5; 8; 2; 4] ;;

(* J00D0O0O0O0OD0O0 ODDOOoDooOooooog 2 )
let hoo8 x y = x » (string_of_int y) * (string_of_int y) ;;
let _ = List.fold_left hoo8 "" [1; 5; 8; 2; 41 ;;

(x OO0ODD0D000000DO0O x)

let hoo9 xy =x *~ vy ;;

let _ = List.fold_left hoo9 "" [1; 5; 8; 2; 41 ;;

\_ _/
O000000000000000000000f0ld_1left 0000000000000 Caml 0 List00O0O000000

O0BED0ODList.fold_left 000D0DOOO

List.fold_left f a [bl; b2; ...; bnl] O f (... (f (f a bl) b2) ...) bnOODO

000b0b0o00o0o0bDU0bD0b0oUbdOfoldleft0 0 IDUODUODODODO0OMTDOODODUODUODLU aboooD
gboobobobdoyi, b2, ...,on 000 f00000000000O0O00O0O00O0OOOf00O0DO0ODOODOIODODOODODOO
000 (0Ob0000DO0000DO0000OD)00000OO0UO0OOD0OO0OOD0ODOUOOODODOODOOOO
obOodbOfold left 00D DOO0ODOODODOOODOODOOO
e )
let rec my_fold_left f a 1lst =
match 1st with

I [1 — a
| h::t =2 my_fold_left £ (£ a h) t ;;

(*
val my_fold left : (‘a — b = ’a) — ’a — ’b list — ’a = <fun>
*)
\_ _/
U0 my_fold_left OO0 0OODOODOODOODODOOOODOODOODODODODOO
O00O0Ofold_right O ODOOOOOOOO
a N
(¥ fold right O fold left OOOOOOO x*)
let _ = List.fold_right

(fun x — fun y — sqrt (float x) +. vy)

[1; 5; 8; 2; 4]

0.0 ;;

- %
U0 fold_right 00000000 OO0OOOO0DOODOOOOOOOOOOOOODOODOOOOOOO

0000 2. fold_left 000000000 (0D)000000O0OODO0OO0OOOODOODODOOODOOOOOODOODODDOO
ugn

0000000000 00000000 URLOOOODOODOOOOO0O00O OCaml List Module 00 00000000000000



15 00O

000000000000 (traverse) 0D O0DOODODOOOOODO
gbobooboooooooooboobobuobobobobobobooobuobobooboob0bObyU string_of_tree O U
goobOob0ob0obooooooooobobOoDn flatten OO OooooO
4 N

type binary_tree =
| Leaf

| Node of int * binary_tree % binary_tree ;;

let rec string_of_tree (bt : binary_tree) : string =
match bt with
| Leaf — ""
| Node (n,btl,bt2) —
let sl = string_of_tree btl in
let s2 = string_of_tree bt2 in

(string_of_int n) ~ " "™ 7~ (s1 ~ " " "~ 352) ;;

let rec flatten (bt : binary_tree) : int list =
match bt with
| Leaf — []
| Node (n,btl,bt2) —
let s1 = flatten btl in
let s2 = flatten bt2 in
n :: (List.append sl s2) ;;

- %
2000000000000DO0O0COO00000O0O0ODOOOOOO0OO0OODODOOOOO0O0OO0O0OODOOOBOO000
oooooooooooo2000000000000000000O0O0O0O0O0OOODOOODOO
CO00b0O0o0oooDOoOo0ooooo0onn traverse0 00000000000 O0DOCO0MOOOOODOOOOODOOOOOO
o0 f000000000000DO00b00O00




a I

let rec traverse (f : int —- ’'a — 'a — ’"a) (a : "a) (bt : binary_tree) : 'a =
match bt with
| Leaf — a
| Node(n,btl,bt2) —

let sl = traverse f a btl in
let s2 = traverse f a bt2 in
f n sl s2 ;;
let string_of_tree (bt : binary_tree) : string =

traverse (fun n — fun sl — fun s2 —

(string_of_int n) ~ "™ " ~ (sl ~ "™ " 7~ s52))

nn

let flatten (bt : binary_tree) : int list =
traverse (fun n — fun sl — fun s2 —
n :: (List.append sl s2))
[]
bt ;;
- %
000000000000000(1) 00000000 (00 traverse000)00(2)000000000OO0ODOO (traverse
00000000000)000000000O000000D00000O00000D000D00000O0D0DO00ODOOODO0OD
gogo
00000000000000000000000000000000000000000000000000O0O0O (2)00
gooboboboooooooobooboobo
0000(1) 0000000000000 0000000000000000000000DO0O00DDO0ODO0OO0DO0OO0OOO
gogo
a I
let rec traverse2 (f : int — 'a — 'a — ’a) (a : '"a) (bt : binary_tree) : 'a =

match bt with

| Leaf — a

| Node(n,btl,bt2) —
let s2 = traverse2 f a bt2 in
let sl = traverse2 f a btl in

f n sl s2 ;;

let flatten2 (bt : binary_tree) : int list =
traverse2 (fun n — fun sl — fun s2 —
n :: (List.append sl s2))
[]
bt ;;
- %
00000000 0Oflatten2 D0 0000000000000 O0O0OO0O0OO0DOOODOOOOOOOOOO
goobobobobobobobobobooboooooooboobooboobooooboooboboobUobbbobobLoboo
gobooooboobon
00000 traverse 100000000 fold 00000000000 0ODOOOO00O0O0O0OO0OO0OO0OOO0O0OO0OODOOOOO
gooboobobobooooboooobobobobobobooboooooboobobOoboboboboobog




2 00

(1) List.fold_left 00O List.fold_right 0000000000000 0O000O00O0O00O00 nin 00000000
O00Omax_int 0000000000 OOOOOOOO

O: min [1;5;2;3;4] =1

O: min [] = max_int

(2) List.fold_left 000 List.fold_right 0000000000000 0O0OODOOD0OOODOOOODOODOOOOOOO
0000000 dic_last 00000000 O0OOOOO (") 0000000000000 0ODO0OOO0OOODOODOCaml
00000s1,s200000 sl <s2000000000000000000O0OCDOOOOO0O

O: dic_last ["aloha"; "mahalo"; "komo"] = "mahalo"

O: dic_last [] = ""

3)0000O0ooooon List.iter(iteratorl][ll])DDDDDDDDDDD my_iter 000000

0: my_iter print_int [111; 222; 333] = () (0000111222333 0000000)

(4)(0000)00000000000 Listfoldright 00000000000 my_fold_right 000000

OO0 my_fold_right (fun x -> fun y -> (float x) +. y) [1; 2; 3] 0.0=6.0

(5)(00D00)00 f: float -> float U0float 000 vOIOODOUODODOxODOOD fO000 (v)OODOODOOO
OO0 derivOOdOOO0O

O: deriv (fun x -> x *. x +. x +. 1.0) 3.5=800000

oo0: f(x)0D0 Iﬁ{itfl;:lx}grD O000U0e000O0OC0OO0O000O0ODODODOOOOOOODOOOOOOOODODODODODOO
goooobobooooboo E][][]D 00000000(1) 0000000 e000000ODO0O0OO0ODODOOO(2)D00000O0
0e00000D00O0O00O0O0OOOOOUODOOODODOOOOOOODOODOOOOOD(OO fOOOOOOODODOOODOODOO
000000000 ()D (2)0000D00D0OUD0DLOD0ODO0DoDODOObODOoDoOooOO)

00000000b0edODDOOO0O ODODOOODOOOODODOOODDOOODODOOODDOOODODOOODOOOODODOO
ooooooo

(6) (000D0)OCaml DO DODOODOOOOOListsort 00000000000 0OOOODOODOOOOODOOO (0DO)0OO0
000000000000 o00o0000oo0mo0oUo0o000Uo0o0o000@ o000 UoD0o0O00o0DoDooooDoUoo
gl ooooooog

3 Ub:0b0obooboobooobooooog

0000000000000 000D00000D0 (combinator) 000000 DODOO0DOOOOOD
000000000 1000000000000 LK,S,B,C, WO 600 OCamlO0OODO0OOOODOOOO
e I

let combinator_i x =X ;;
let combinator_k x y =X ;;
let combinator_s x vy z = (x z) (v z) ;;
let combinator_ b x y z = x (y z) ;;
let combinator_c x y z = (x 2z) y ;;
let combinator_w x y = (Xy)y ii
\_ J

00000000000000D000000000D000000000D0O0O0000 SKKe=I1x(0OOO 20000)0
goooon
cooooooobooooooooooooooOoboOobobooOoOoboOoOoOoOoDOboOobOOOoOoOobOboOoooOoOOoOoOObOOooDn
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